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good

ooooo
» 0000000000000 OLOOoOooOoo
AP
V= ——
At

ooooooooo
» 00000000 : 3.0x108km/s
» 000000000000: 2.1x108m/s

goboobooo:oboobbooboobooon

» 000000 (bit rate): bits per second
» 0000 (0000D0)

» 0000 (bandwidth capacity)d 00O (bandwidth)
» JO00O00O (throughput)
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» JO00OD0000: 0000oogogn
» 00000 ooogoobog
» DOOO0 ISPOOO0OOOCODOOOODOOOOOO
» 000000000000
» JO0OO0O0Ooooooa
» Iperf0 netperfd ixChariot O O
» O0: 00000 00000OOOOOO0O0
» 000000000000 ooooooog

sender receiver
O=1=p==0

» TCPOODODOOOOODDO
» UDPOOOOOOOOOOOOOO
» TCPODODOOOOODOODOO
» TCPOODOOOOO: delay bandwidth product
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TCP congestion control

» congestion window 0 000000 O0OOOOOOO
» slow start/congestion avoidance
> retransmit timeout
» fast retransmit/fast recovery

sow sow  congestion  congestion
start start avoidance avoidance
cwnd
target
size

[ [ [
timeout fast recovery fast recovery

time

6
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TCP self-clocking

» ack U0 0O0O0OO0OO0OOOOOOOOOO
» D00 D000b0O00b0bOo0oboooDon

receiver

ack path

sender
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» D000 D0O00bOO0000oboooboobooon
» pathchar OO0 0000 (DOODOOOOOOODO)

» traceroute 0000 TTLOOOOODOOOODOOOO
uboboobOoobooooboooooon
goooboooooboobooooooo
gboooboobooobooboooooon
obooobOoboooobobooooobooooooonDn

v vy VvYy

» 00O
» JO0O0O0O0O0ooon
» JO000O0: 00000000o0o0oobooooog
» JOO0O0O0Ooooooa
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pathcharJ O OO OO

» 0000000000 000000O000O0O0
» y=ax+b
» a: RTT-delta/packetsize-delta (bandwidth)
» b: delay for packetsize 0 (propagation delay)

rtt

o

o

o
DM@ 0000 O O

\dDO@O @O @OOO O O
POO@®O@OOOOO0 O

y:ax+b

D OO O@®O OO O

QUEIDADO @O @O O O O

@OM@OO@» O OO

OO @O@®OO0O O O

packet size
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» OO0 o0oOoooogga
» DO00000O000000O0000O00bO000000
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00000 (summary statistics)

oooooooOooboooboboooo
» 0O0O00O00O0O:
» 00 (mean)J 000 (median)0 OO0 (mode)
» JO0O0OO0Oooogon:
» 00O (range)0 O O (variance)D 00O O O (standard deviation)
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» 00 (mean):
1

— XI
n

>DDD(median):DDDDDDDDDDDDDDDDD

N | x4 mOO0O0O00O, m=2r+1
median (xr+x+1)/2 mOOO0OO0O, m=2r

» 000 (mode): OO0 ODOOODOODOO
gobogboobobooooan

mean

mide edian
de

me
my

median

Nean /

f(x)
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0000000 (percentiles)

» pth-percentile: DO 0000000 p%0O00
» median = 50th-percentile

sorted variable x
o
T

0 10 20 30 40 50 60 70 80 90 100
total observations (%)
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» 00 (range): OO OOODOOODO
» 00O (variance):

n

o? = E Z(X; —x)?

n i=1

v

0000 (standatd deviation): o

» DO0O0000O0000000b000n

» 000000000 0O0bOO00Ob0O0bOOobOoo
0000000000 68%0 (mean + stddev) 95%[
(mean 4+ 2stddev) DO OO O0O

v

100
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00 (correlation)

» 000 (covariance):

1 n
TRy = - .Z;(Xi —X)(vi —¥)

» 0000 (correlation coefficient):

9% (iR —y)

Py = o = - -
S S SHIN 7 S £ SN (7 O
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000 (scatter plots)

» 20 000000000O00DO0O0O
» XO: 00 X
» YO:OOOOODOOOO YOO
» JO0Oobogn
» XOYOOODOOOO
» DO0Oo0ooOoooooooo

» JO0YODOO XOOOOOOOOOoooDoo
» DO0O00000000

0:(0)000007(0)0000.0(0)0000 -05
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0000 (linear regression)

» JO0O0000D0OO0OO0OCOO0OD
» 00000 (least square method): DOOOO0OOOOOODO

IPv6 response time (msec)

500

400

300

200

100

e

i
+

VA6 rtts
9.28 + 1.03 * x

100 200 300 400 500
IPv4 response time (msec)
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00000 (least square method)
00000000000000000000

f(X):b0+b1X
ooOooooood

> xy — nxy
by =

Y x2 — n(x)2

bo =y — bix
ggoo

<
I

10
X = ; in Yi
i=1 1
n n
dxy=D xyi Y =) (%)
i=1 i=1
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00000000 e=y,—(bo+bmx)DnD000000DO0DODOOOOO
_ 1 1 _ -
e=;Z&‘:EZ(Yi*(bo+b1Xi))=Y*b0*b1X

i i

00000 o0oooo0oO00O0d by =y— bix

b by OOOOGOO e,-:y,-f}7+b1>_<fblx,-:(y,-f)_/)fbl(x,-f)'()

oooooo SSEO

n n
SSE=Y e = [(vi —¥)* —2b1(yi — ¥)(xi — X) + b (xi — %)°]
i=1 i=1

ooooooo

SSE 1< _ 1< _ - 1 -
— = D = IP 2k Y (i = V) = X) b D (6 — %)
i=1 i=1 i=1

05—2b1a)2<y+b%a)2<
SSEO000OO »OOODOOO pp 0200000 hOOOODOOOOo0OOO

1 d(SSE)
n dby

=—202, +2bjo; =0
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# extract a variable from each line
re = /~\S+\s+(\d+)\s+\d+/

# create an array for data
data = Array.new
ARGF.each_line do |linel
if re.match(line)
data.push $1.to_i
end
end

# compute mean

sum = 0

data.each {|v| sum += v}

mean = Float(sum) / data.length

# compute standard deviation

sqsum = 0

data.each {|v| sqsum += (v - mean)**2}
var = Float(sqsum) /data.length
stddev = Math.sqrt(var)

puts "mean=#{mean} stddev=#{stddevl}"
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good

» 10000 boobobobobobob
» D000 oOo0oobooooon

350 . . . . . 350 . . . ! :
0.0461%12.8 ——
300 F - 300
250 [ 250
o) L @
g 200 g 200
2 )
T 150 | T 150
100 | 100
50 50 .
et e
0 1000 2000 3000 4000 5000 6000 0 1000 2000 3000 4000 5000 6000
requests requests
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# extract 2 variables from each line

re = /"\S+\s+(\d+)\s+(\d+)/

# compute (y = b0 + blxx) by the least square method
Sum_X = Sum_y = Sum_XX = sum_xy = n = 0
ARGF.each_line do |linel|
if re.match(line)
x = $1.to_i
y = $2.to_1i

sum_x += X
sum_y +=y
sSum_xxX += X * X
sum_xy += x * y
n +=1
end
end

mean_x = Float(sum_x) / n
mean_y = Float(sum_y) / n
bl = (sum_xy - n * mean_x * mean_y) / (Sum_xX - n * mean_x * mean_x)
b0 = mean_y - bl * mean_x

puts "bO=#{b0} bil=#{b1}"



HEN

1

» O00: 00000b0oooboobooonoog

» D0O0: 0000b0oobooooobooobobon

» 00DO: 2011-05-16/2011-05-22 0000000 (SFC-FSFO
ooooo)
> 2011-02-28/2011-03-06 0 0 0 0 0 2011-05-16,/2011-05-22 [
ooo
» D0: 000002011-02-28/2011-03-06 00 000000 0O
000000000000
» 0000: 000000000 PDFOOOOOOO
SFC-SFSO OO0
1. 000000000000000
2. 000000000000
3.00000000000000000
4. 000000oobObUoooooobbooooooog

» JO00O0O: 20110 60 170
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» 03000000000 10000000000 oooon
000000000000 00ODO2011-05-16/2011-05-220 1
goboobooobooo

» D000 DbOo0oboobboobuoobooobooboo
gooo

1. 000ob0oo0ooooboboboobooboooooobooDo
ubooaoad

#hour Mon Tue Wed Thu Fri Sat Sun mean stddev

0 2592 3221 3423 3310 3121 1963 2265 2842.1 527.27
1 2373 2525 1880 1852 1367 1572 1873 1920.2 379.20
2 1410 1097 1412 1265 1165 1144 1432 1275.0 132.38
3 599 764 1185 906 1033 657 1101 892.1 209.44

22 3891 3319 4364 3056 2860 2940 3098 3361.1 518.11
23 3764 3610 3107 3718 2768 3354 2675 3285.1 413.76
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» D000 oOo0ooooooobobon

» D000 booboooboobooobouoobooobobooooo
goboooboogan

16
mean
stddev —+—
14
12
8 8 1
& &
a a
@ 2 08
S S
=z z
2 2 o6
0.4
0.2
S S S SR 0
0o 2 4 6 8 10 12 14 16 18 20 22 24 0 2 4 6 B 10 12 14 16 18 20 22 24
time (1 hour interval) time (1 hour interval)
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» 00O OOon

» OO

» JO0:000000o0ooooa
» 001
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050 0000000000 ODOO (6/8)
» D000 ooooboooooon
» JO0Ooooon
» U
» 0o
» J0:00gaogn
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